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1. Find the equivalent resistance Req and calculate the current I in the circuit of Fig. 1. (20%) 

I

+-

1Ω 0.5Ω

1Ω

1Ω

1Ω

1Ω

1Ω
1Ω

0.5Ω

0.5Ω
0.5Ω

10V

Req

I

+-

1Ω 0.5Ω

1Ω

1Ω

1Ω

1Ω

1Ω
1Ω

0.5Ω

0.5Ω
0.5Ω

10V +-+-

1Ω 0.5Ω

1Ω

1Ω

1Ω

1Ω

1Ω
1Ω

0.5Ω

0.5Ω
0.5Ω

10V

Req

 
Fig. 1 

2. Determine the value of RL that will draw the maximum power from the rest of the circuit in 
Fig. 2 and calculate the maximum power. (20%) 
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Fig. 2 
3. For the circuit in Fig. 3, find ix. (15%) 
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Fig. 3 
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4. For the three coupled coils in Fig. 4, calculate the total inductance. (15%) 
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Fig. 4 

5. For the circuit in Fig. 5, find Vo. (15%) 
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 Fig. 5 

6. Find vo(t) in the circuit of Fig. 6. (15%) 
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Fig. 6 
 


